




 

 
 

 

 

 

 
 

  𝒚 = 𝒎𝒙 + 𝒃𝒎𝒃 𝒚 

 

(𝒚 − 𝒚𝟏) = 𝒎(𝒙 − 𝒙𝟏)(𝒙𝟏 𝒚𝟏) 

𝒎

 

 

 

𝒑 → 𝒒
𝟗𝟎°

𝒒 → 𝒑
  

𝟗𝟎°

~𝒑 → ~𝒒
𝟗𝟎°

~𝒒 → ~𝒑
  

𝟗𝟎°

 

 

 

𝑏2  −  4𝑎𝑐 = 0 

𝑏2 − 4𝑎𝑐 > 0 
𝑏2 − 4𝑎𝑐 < 0 

𝑎𝑥2 + 𝑏𝑥 + 𝑐 = 0  

𝑥 =
−𝑏±√𝑏2−4𝑎𝑐

2𝑎
 

 



 

 
 

 

 

 

 

 

 

m∠ABC =
𝟏

𝟐
𝒎𝑩𝑪̂                                                           𝐀𝐁 × 𝑩𝑪 = 𝑫𝑩 × 𝑩𝑬        

 

 

 

         

m∠1=
𝟏

𝟐
( m𝑨𝑫̂+m𝑪𝑩̂ )

m∠𝑴=
𝟏

𝟐
 ( m𝑪𝑩̂ – m𝑫𝑨̂ )

 m∠A=
𝟏

𝟐
 ( m𝑩𝑫𝑪̂ – m𝑩𝑪̂ )

 

 

   (𝑱𝑲𝟐) = 𝑱𝑳 × 𝑱𝑴    

 
 

 

 

 

 

 

D 

E 
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     𝒂 ∙ 𝒃 = 𝒃 ∙ 𝒄             𝒂 + (𝒃 + 𝒄) = (𝒂 + 𝒃) + 𝒄   / 

  𝒂(𝒃 + 𝒄) = 𝒂𝒃 + 𝒂𝒄 

-33

𝒂

𝒃
((

𝒃

𝒂
)

 

 

 

 

 

N

{1,2,3,4} 

w{0,1,2,3} 

 Q { 
𝟐

𝟑
 ,

𝟑

𝟓 
 , 𝟎. 𝟏𝟐𝟓 }  

I

z  {-2,-1,0,1,2 

} 

 
 

  

 



 

 
 

 

 

𝑓(𝑥) =
1

𝑥
  

 

 

 

 

 

 

 

 

 

 

 

 

 

- f(x) 

g(x) = f(x - h) +k

 

- xf(x)g(x) = -f(x)

yf(x)                   𝑔(𝑥) = 𝑓(−𝑥) 

k|𝑘|h|ℎ|

 

 

[𝑥]

x

   RZ 

:|±𝑎| = 𝑎 

RR+

𝑓(𝑥) = |𝑥 − 𝑎| + 𝑏   

R [b, ∞) 

 

𝑓(𝑥) = √𝑥 

  

𝑓(𝑥) = 𝑥2

U  

 

 

𝑓(𝑥) = 𝑥3

 



 

 
 

 

(n)n 

a 1= a

r 

 

 

 

 

 

𝒂𝒏 = 𝒂𝟏 + (𝒏 − 𝟏)𝒅𝒂𝒏 = 𝒂𝟏 ⋅ 𝒓𝒏−𝟏

  𝟏) 𝒔𝒏 = 𝒏 (
𝒂𝟏+𝒂𝒏

𝟐
) 

 2)  𝒔𝒏 =
𝒏

𝟐
[𝟐𝒂𝟏 + (𝒏 − 𝟏)𝒅]

𝒔𝒏 =
𝒂𝟏 − 𝒂𝟏 ⋅ 𝒓𝒏

𝟏 − 𝒓

∑ 𝒇(𝒌)

𝒏

𝒌=𝟏

0

𝑓(𝑥) = 𝑥𝑛 → 𝑓́(𝑥) = 𝑛𝑥𝑛−1 

𝑓(𝑥) = 𝑥3 → 𝑓́(𝑥) = 3𝑥3−1 = 3𝑥2 

𝑓(𝑥) = 𝑐𝑥𝑛 → 𝑓́(𝑥) = 𝑛𝑐𝑥𝑛−1 

𝑓(𝑥) = 7𝑥−2 → 𝑓́(𝑥) = −2(7𝑥−2−1) = −14𝑥−3

𝑓(𝑥) = 3𝑥2 − 5 + 12 

𝑓́(𝑥) = 2(3𝑥) − 5 + 0 = 6𝑥 − 5

𝑑

𝑑𝑥
(𝑓(𝑥) ∙ 𝑔(𝑥)) = (  )( ) + ( )(  )

𝑑

𝑑𝑥
(

𝑓(𝑥)

𝑔(𝑥)
) =

(  )( ) − ( )(  ) 

( )2

 

  

 

∑ 𝑎(𝑟)𝑘−1

𝑛

𝑘=1

 
 =(n)n-k+1 

 ←  a1= f(k)k

 d k 
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: 

https://wa.me/message/BDSSFZGTHXXVI1 : 

 

https://wa.me/message/BDSSFZGTHXXVI1




 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

  

  

 

 

 

 

 

 
 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

ACDC  

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

9.8 𝒎 ∕ 𝒔𝟐 g 

𝟔. 𝟔𝟕 × 𝟏𝟎−𝟏𝟏 G 

𝟑 × 𝟏𝟎𝟖𝒎/𝒔 c 

−𝟏.𝟔 × 𝟏𝟎−𝟏𝟗 e 

𝟗 × 𝟏𝟎𝟗 K 

h 𝟔. 𝟔𝟐 × 𝟏𝟎−𝟑𝟒 

𝒓𝒏 = 𝟓. 𝟑 × 𝟏𝟎−𝟏𝟏𝒏𝟐 

𝑬𝒏 = −
𝟏𝟑 ⋅ 𝟔

𝒏𝟐
 

 

 



 

 

 

 

 

 

 

  

 
 

  

 

 

 

PNP

 

NPN
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O3 
 

DU
 

 

• 
• 
• 
• 
• 
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2 S 

6  P 

10  D 

14  F 

 

 
 
 
 
 
 

 



 

 

 
 
 

 

2V2=M1V1M 

2n+2HnC 2nHnC 2-2nHnC 

1 4CH ----------

26H2C 4H2C 2H2C 

3 8H3C 6H3C 4H3C 

4 10H4C 8H4C 6H4C

5 12H5C10H5C8H5C

6 14H6C 12H6C10H6C

7 16H7C14H7C 12H7C

8 18H8C16H8C14H8C

9 20H9C18H9C16H9C

10 22H10C20H10C18H10C

 

 



 

 

 

CFCS  

.

.

.

.

.

.

 .

.

.

 



 

 

𝑇𝑓 = 𝐾𝑓 × 𝑚   

 

𝑇𝑓 = 𝐾𝑏 × 𝑚   

: 

𝑃𝑉 = 𝑛𝑅𝑇

:

     𝑃 = 𝑃 +  𝑃 +  𝑃 + ⋯

:

√     

 

 
×

 

 

  
×

m: 

    

𝑘𝑔  

M: 

 

 

 

   

  +  

 



 

 

 

 

:

  

 
×

 

𝑆

𝑃
=

𝑆

𝑃

 

×
 

 

𝑚𝑣

𝑿
  𝑨

  𝒁
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RNA

mRNA

tRNA

rRNA

 

RNA 
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